AIAPGET 2020 Siddha

Topic:- AIAPGET_Siddha_New

1) As per the text Nagamuni Nayanavithi 200, Which type of Kasa noi occurring in comea is
mecurable?

BT&apant] BsT sflgl 200 srsitm Bredlsit Ly, smHailPuilsy Careirmie srF Grrullst Frrs
NS 6TH

[Question ID = 634]
1. Pitha kasam / 1135 srsb

[Option ID = 2533]
2. Manthara kasam / WhHSTT STFLD

[Option ID = 2534]
3. Neela kasan / Fevsrsib

[Option ID = 2535]
4. Vatha kasam / surs &vaib

[Option ID = 2536]

2) Choose the correct statement from the options given below

Statement I: According to Kuttram wounds are classified into 16 types

Statement II: Naayurivi uppu is used to remove slough in Iyappua.
& s eRTL suhHmIsT FrwTsT s nylenar GHiH o5 HESeyLb.

soml: FHhousmer GUTmES LsisrssT 16 susnswrs LEs0uBsns.

spnl I priymall 2 sy @w yswsntlslflHéFHh S L SmFHansT FHS 6l LPBISTLD.

[Question ID = 635]
1. Both Statement I and Statement II are true / spmy I wHauib s pay I #r

[Option ID = 2537]
2. Both Statement I and Statement II are false / e Py I wHoubd snpoy II Heumy

[Option ID = 2538]
3. Statement I is correct but Statement I is false ; Fmmi I &7 s pm I seum)

[Option ID = 2539]
4. Statement I is incorrect but Statement I1 s true / S Hml I soum) s Hmy I #1)

[Option ID = 2540]

3) Choose the most appropriate statement from the options given below:

(A)  On the basis of Kutram. Wounds are classified into 16 types.
(B) In Kuruthi pun. the wound resembles the Coral,

(C)  The discharges in Azhal pun resembles Cows urine and Butter.
(D) Veera neer is used for Vali pun.

(E) Drugs containing Sulphur can be used. when Saaram and Senneer are affected.

YT ST uHmilii &pSenTL fmhHDIssenaT & rmiibg FHwWTarsuhsnn C5iey GlFiils.
(A) @DDiismsT GUTHBS Ysimssr 16 susnswrs LfEs0u@HID.
(B) &®msliysr usipsams Gursy F)ms St
(C)  ypsd YeiTemilsh suigujib BTTaTHl LS (PSS THemnsd GUTsoa|D GlsusisT6l snTii
Gumrsvayld (&)(HdH FHLD.



(D) susrﬂljrl_;;ws;ﬂp@ af T BT vwstuB S nSI.
(E) &rmb. QFsnT. Blsl 1y hémsulls shHFH0 CFTHS (HHNS 61LPEIH60TLD.

[Question ID = 636]
1. (A). (B). (C). (D) and (E) only / (A). (B). (C). (D) wpmuid (E) L Hib

[Option ID = 2541]
2. (A), (B).(C)and (E) only / (A). (B). (C) wppiid (E) wi”Hib

[Option ID = 2542]
3. (A), (B). (D) and (E) only / (A). (B). (D) whmitp (E) " Hib

[Option ID = 2543]
4 (A). (C). (D) and (E) only /(A), (C). (D) wpmib (E) w_(Gib

[Option ID = 2544]

4)  Match the correct answer from the options given below:

List I List IT

A. Mandai vali T. Aayil thylam

B. Kabala azhal 1. Milagu thylam

C. Kabala silerpanam [III. Asana vilvaathi thylam
|D. Kabala vali azhal t[V. Kumari thylam

FssanaunpleflFhg sflwrar QuTmissms Caiay ClFils.

suflems I suflema 11
(A) wemremL_ suer] (1) eyuilst engsvid
(B) sumsy gjps (II) fler@ smpsvid
(C) sumrsw GFhusid (IIT) oy=eor aflsbauTs smss0Lb
(D) sumsv suerl g Lpsb (IV) @il smpsvid

[Question ID = 637]

1 (A)-(D). (B)-(I). (C)-(III), (D)-(IV)
[Option ID = 2545]

2. (A)-(ID). (B)-(D), (C)-(IV). (D)-(TIT)
[Option ID = 2546]

3 (A)-IV). (B)-(TID). (C)-(II). (D)-(T)
Option 0 -2547)

+ (A)-(II). (B)-(IV). (O)-(ID). (D)-(D)

[Option ID = 2548]

5) As per the text Agathiyar Nayana vithi. How many types of Padalam occur in the Cornea?
S ssFwi Bwer aflFliiug smallyflullsh ssHu@ID ULsb sTHSFsmear susnsLLBib?

[Question ID = 638]
1. 3

[Option ID = 2549]
2. 3

[Option ID = 2550]
3. 7

[Option ID = 2551]
4. 9

[Option ID = 2552]

6) How many diseases occur in Kadaikkan?



HemL_dhaurentisd GFHTeiT i GEHTUISHET 6THSHemenT .

[Question ID = 639]
1. 5

[Option ID = 2553]
2. 10

[Option ID = 2554]
3. 15§

[Option ID = 2555]
4. 96

[Option ID = 2556]

7) How many types of Kabala Kuttam are there?
HUT FL_L_Lb 6THHMET susmbLIL(RinT

[Question ID = 640]

1. 4

[Option ID = 2557]
2. 5

[Option ID = 2558]
3.6

[Option ID = 2559]
4. 7

[Option ID = 2560]

8) Which of the following constituents of cell is responsible for Multiplication / Reproduction?

allev S 36T sThS GluT(HsT B)aTl1GlLHESSI DS STTemTLTHTS] ]

[Question ID = 641]
1. Vilasam ; afleo#ib

[Option ID = 2561]
2. Vilasagam / eflsuFsib

[Option ID = 2562]
3. Param /urib

[Option ID = 2563]
4. Muppu / @pUL,

[Option ID = 2564]

9) The Kuruthippatham of blood in Anemia is
Glsugmliy Guruilsh FmAIusD sTsususmay?

[Question ID = 642]
1. 4

[Option ID = 2565]
2. g

[Option ID = 2566]
3. §

[Option ID = 2567]
4. 1

[Option ID = 2568]

10)  Choose the correct answer from the options given below



Statement I: Kuruthippatham of the blood depends upon the RBC Count.

Statement IT: Increased Kuruthippatham of the blood signifies decreased RBC count.
FpSaTLsuPHmisT FOWTET FnDPlenear G5 H6)%5HEHaLD.
amnm I @ Hmaluilsr usik GlFsuailsotisaflsir sTamentldanssniils GlUTHBS WS

snml 11 . gmsuilsr usb o wiksTsd GFsualasssr sTameniEms HmDBSSH sTHTH
-9 5] LD TEITLD

[Question ID = 643]
1. Both Statement I and Statement IT are true / s pmy I whHmib s pmy I F1

[Option ID = 2569]
2. Both Statement I and Statement 1T are false / apmy I wHminb s pmy I seum

[Option ID = 2570]
3. Statement I is correct but Statement I is false ; spmy [ &1 smpmi I eum)

[Option ID = 2571]
4. Statement I is incorrect but Statement I is true / sapmi I seumi s pmy 11 &

[Option ID = 2572]

11)

Choose the wrong statement about Involuntary muscles. mentioned below

(A) Involuntary muscles are Non striated

(B) Itis seen in Uterus, Stomach and Intestinal muscles

(C) Performs the Kanmenthiriya activity

(D)  Size of the Involuntary muscles are small

FpHanTL_sunmisT BlFFT GuFfsnw unrliu SunTer &(HHms Sy GFIS
(A) gBlFsr Guf suflsaflsvsors Gus

(B) smusmu Genriisnu L) wphelliensuserfis &mrewriiLbesirmsor

(C) saTGuhgifiu GFiisnsssmear HL L1l @D

(D) oyplFFr Gudf @enpsar gyerailsy Fpjlwer

[Question ID = 644]

1.

(B) only / (B) i (Hub

[Option ID = 2573]
2. (C)only /(C)wr o

[Option ID = 2574]
3. (A)only /(A) w (b

[ngion ID_= 2575]
4. (D) only /(D) wi Gib

[Option ID = 2576]

12)  Which one of the following thasavayu is ‘Imaivali’?

FPSaTL 55 surissanso Fsmwi susif s157

[Question ID = 645]

1.

Devathathan / CERTEEE Ty



[Option ID = 2577]

Koorman / #niiosir

[Option ID = 2578]
3. Nagan / BT&Hsir

[Option ID = 2579]
4. Kirukaran / &\(Ga&rsir

[Option ID = 2580]

13)  As per the Udal thathuvam text match the following

ListI List II
(Artery/Vein) {(Pressure)

A. Vena Cava I. 9mm Hg
B. Carotid Arteries —(Larger arteries) II. 0-8 mm Hg
C. Neck Vein IIL. 90 mm Hg
D. Small vein IV. 3 mm Hg

2 L&) $55HI6u BTsOsTLILG & IDSaTLsunsnn GlUT(HSHIS

suflsma 1 suflsm& IT
(5mig/Bremb) (B®S 9 ws50)
(A) @sT Brsmb (I} 9 0.5, paub

(B) #lfsu prig (Glumw BrigHsir)

(II) 0-8 1.6, raib

(C) swsHg promd

(IIT) 90 w15 reD

(D) Alw Bremd

(IV) 3 .5, rem

[Question ID = 646]

- (AIV). (B)-(IID). (C)-(ID). (D)-(D)
[OptioniD=2581) =

2. (A1), (B)-(ID). (C)-(Im), (D)-(IV)
(Option D =2582] ~ . |

> (A, (B)-@, (C)-(IV), (DI
[OptionID=2583] = |

+ (A)-(I). (B)-(IV). (C)-(1). (D)-(IN)

[Option ID = 2584]

14) Which of the following is the common cause for Ketosis?

FpsamLsupnisT FLU_GL Tefls sTHUBsUSH & STremrwrsT GHmil sT3”

[Question ID = 647]
1. Nephrosis / QpuGrredlan

[Option ID = 2585]
2. Coronary artery disease / sGrmerif] gy Gpmil

[Option ID = 2586]
3. Muscle degeneration / w#ls) 196z arGrasir

[Option ID = 2587]

4. Untreated Diabetes Mellitus ; uflaflésiuLrs Lwruigsiv Glwsbl L s

[Option ID = 2588]

15)  Defect in the enzyme p-galactosidase results in which of the following disease?

rf'!_.';ldﬁmﬂ_&u[f]gjﬂ?' p-CausGLrdGL av srarsnsin meplur L ra ssnupis GEml stx?

[Question ID = 648]




-

Gauchers discase [/ Gssrssisw Cpmi

[Option ID = 2589]
- Krabbes disease / ACruisv Cprir

N

[Option ID = 2590]
Niemann pick disease  £0wsr Uls Cpmi

w

[Option ID = 2591]
Fabers disease / Guuien Cpmis

>

[Option ID = 2592]

16) The sugar found in Milk is:
ursflsh @) meb G Fissamr st ?

[Question ID = 649]
1. Galactose / sreudGL T

[Option ID = 2593]
2. Glucose / @HEmEEHTsiv

[Option ID = 2594]
3. Fructose / OrsGLmsio

[Option ID = 2595]
4. Lactose / sordGLmsn

[Option ID = 2596]

17)  Which one of the following is formerly known as Vitamin H

snaut’ L bl H sratmy apstert sypludo’ L ensul L ifler sty

[Question ID = 650]
1. Biotin / ssuwmliger

[Option ID = 2597]
2. Folic Acid / Gurefls spflevn

[Option ID = 2598]

3. Cobalamin / Gsrurseswsr

[Option ID = 2599]

4. Pyridoxine / souflLrsfsr

[Option ID = 2600]

18)  Choose the correct Statement

Statement I: Vit. B12 1s also called as Cobalamin, Extrinsic factor of castle and Anti-

pernicious anemia factor.
Statement II: The metal present in Vit. B12 1s Chromium.

FHWTaT & nblsnear Ga5iH 6% HESaLD.

Fapml 1 GaTUTsem 6T, sTHsvIg FlaiTHd UTSLT ol STsigsd @y sirig 6lufsf Flwsn
Sef T uTsL T sTsiTusr sl iflsir 1) 12 oy @b,

sapm 1L swsul_ L 1flsir 12 s0 5 Crrflwib sTeirapih 2 Gsorsl GlUrmsir 2_sirsrg).

[Question ID = 651]
1. Both Statement I and Statement Il are true / s o [ emnnb s mmi IT &1

[Option ID = 2601]
2. Both Statement I and Statement II are false / s.pmni I wpmib s poy I Seumi



[Option ID = 2602]
3. Statement I is correct but Statement IT is false / & nmi I #f spm 11 ssumy

[Option ID = 2603]
4. Statement I is incorrect but Statement I is true / S Hmi [ Seumi s pmy 11 1

[Option ID = 2604]

19)  Match the disease caused by deficiency of vitamins

List I List IT

A. Ascorbic acid|I.  Scurvy
B. Niacin II. Glossitis
C. Thaimine I11. Pellagra

‘D. Riboflavin iIV Beriberi

sl L 1flsT @emmuml g e mst sTHU{RID CHmilssnary GlUT(HEHS

suiflems I suiflema 11
(A) gysoasmils eulsub (I} swsial
(B) mlwurdlsir (II) SHlerremaF_1gsn
(C) smzwmiblsir (III) Blusbsord:TT
(D) MGumriGsrallsir (IV) GQumelum

[Question ID = 652]

- (A)-ID). B)-(D. (C)-(IV). (D)-(IIm)
[Option ID = 2605] - )

2. (A)-(D). (B)-(IV). (O)-(II), (D)-(IT)
[Option ID = 2606]

3 (AD. (B)-(Tm). (C)-IV). (D)-(ID)
[Option ID = 2607]

4. (A)(IV). (B)-(IID. (C)-ID). (D)D)

[Option ID = 2608]

20)  “Vathathil vediuppum pancha bootham

Vanmavyanj savukkaram panja bootham™ - reference book for this verse is :
"suTHSFls0 Glaulg Wiyl LUEHF LLHLD

SUSITEMLDILITER FYSSTTLD LUEHF LSWL" - BHs GFiyst )b GlupHp Krsw 157

[Question ID = 653]
1. Bogar muthalayiram / Gursi qpss =yuilrb

[Option ID = 2609]
2. Bogar kadaikandam / GuUr&i SenL_&&TarL1b

[Option ID = 2610]
3. Bogar 700 ; Gumrsi 700

[Option ID = 2611]
4. Bogar 12000 / Gumrei 12000

[Option ID = 2612]

21)  Sweating in the neck and head — is the clinical features of which type of Valippu?

B33V Femavuilab allwrsss srewriiu®b susfliiy GBmi st5?



[Question ID = 654]
1. Amara kanda valippu / 907 SerL susdliiy

[Option ID = 2613]
2. Kumara kanda valippu /  @LWr sehri susfliiy

[Option ID = 2614]
3. Pirama kanda valippu ; Uy sesr susdliy

[Option ID = 2615]
4. Kakkaivalippu / srsams susiliy

[Option ID = 2616]
22) Twitching in the forchead and excess heat in the tonsils are the symptoms of which type of
Karappan?
GBEmHS Hi1g 5560 WHMID & sHTMITE S0 Lpsh GUTSTM (H1)(5HMTBISHST 6THS sUHH

&ILIUTesTe) & Tewriiu (Bhib?

[Question ID = 655]

1. Vatha karappan / suTg Srliumssr

[Option ID = 2617]
2. Kanda karappan / SeWrL &riiumsir

[Option ID = 2618]
3. Kabala karappan / &uUTs0 SToiumsr

[Option ID = 2619]
4 Pitha karappan / 35 sroursir

[Option ID = 2620]

23) Symptoms of Dryness in throat and tongue found in which type of valippu?

BlFTERTENL_ILD BTSYLD 2 60T sTSITM (F1](%H60TRI S6iT SHTswTLILI(BHID suelliiL sT5?

[Question ID = 656]
1. Amarakanda vali / 9T SarL susl

[Option ID = 2621]
2. Kumara kanda vali / (LT B susd
[Option ID = 2622]
3. Kakkaivali / sréems susd
[Option ID = 2623]
4 Muyal vali / gpwsb sus)

[Option ID = 2624]

24) Hoarseness of voice 1s the sign of which Matha no1?
(HT60 SOV 6TEITD FMH FHMTLD 6ThS 05 GHrullst &rewriiupin?

[Question ID = 657]

1. Valimatham ; suefl wsib

[Option ID = 2625]
2. Azhal matham / 9|psD LDSLD

[Option ID = 2626]
3. Iya matham / 2w 1SID

[Option ID = 2627]
4. Kuruthi matham / &3 WSLD

[Option ID = 2628]



25)  Which oil is used for the preparation of Chinna thirumeni ennai?
Flsirar )HG et sTemr ol ewniiiuilsy G sTewrblemril sTH?

[Question ID = 658]

1. Coconutoil /  Gzrismil sTar@enrii

[Option ID = 2629]
2. Gungellyoil /  Bsvblsvsisblsmrii

[Option ID = 2630]
3. (Castoroil [/  -2§L06WTS 3 6TewrblsmTill

[Option ID = 2631]

4 Neemoil / Gsuri@usimalsmrii
[Option ID = 2632]

26) Which plant is used in the preparation of Varma nei?
sut o Gsuilsy Gxmib apaflens st

[Question ID = 659]
' Adhatodai / =L TESTL

[Option ID = 2633]
2. Arathai / Hriems

[Option ID = 2634]
3. Kandankaththri / &sew_sissglf

[Option ID = 2635]
4. Thulasi / glerd

[Option ID = 2636]

27)  Stomach pain is seen in which type of Kuttam?

5T susma @HLL Grruilst suuimmlst susfl smenriiLihin?

[Question ID = 660]
1. Thethru kuttam / Gsdzm L LD

[Option ID = 2637]
2. Kideepa kuttam / &lleu gL Lid

[Option ID = 2638]

3. Sarmathala kuttam / &F wHa FHLL LD

[Option ID = 2639]
4. Sithuma Kuttam / #fAdgior gL cib

[Option ID = 2640]

28 ; ; :
) Choose the most appropriate statement from the options given below

Statement I: In kideepa kuttam greenish discoloration of the body and excessive itching is seen.
Statement IT: Kideepa kuttam is curable type (Saathiyam).

& LpSHeNTL suMHmsit FHLTaT Fnplsmar GHiH 6% H\ESayLb.

Fpnl: Slley GLLSS6D 2 L1y uFmFwUrGh. 2% Flarey GlFTn e rELb.

apml I Sz UL Ib sp/ FTSFWLTT HUL LD suend 2 FHLb.



[Question ID = 661]
1. Both Statement I and Statement II are correct ; Fmpmi I wHmid Fmpmy I &1

[Option ID = 2641]
2. Both Statement I and Statement II are incorrect / s pmi I wpmib s pmi I Seumi

[Option ID = 2642]
3. Statement I is correct but Statement ITis incorrect  /  asmpmy [ #f smpmy I seumy

[Option ID = 2643]
4. Statement I is incorrect but Statement II is correct / MM I seumi s mmy 1T il

[Option ID = 2644]

29)  As per the text of Siddha Maruthuvam sirappu. which one of the matching is correct?
List I List IT
i Vathg I. Hair falling 1s present
venpadai
. Pt : II. Iiching present in the spreading areas
venpadai
C. Kaba III. Lesions are seen 1n the back of the neck, borders of the lesions are
venpadai vellowish wooden in colour
. Megal IV. Little blackish white m colour
venpadai

Fs5 WS i Fpliy BredlsTuly sThS GlUTHSHD FTuTaTs?

suflena 1 auflens 11
E;?;J;ﬁ—m_ @D wullt e Fit5s FmsEn
g&l&;:’%i‘ﬂll_ () ureye @ sisellsh) pmiodesd 2 s rEb
(C) &u (III) 50g&Asir s LGN suTbL STemilh, FHDI ITLDL| LGS
GlouewTLIamL H0HS T BDwrs F)Hs @0
(G?SZJ;;T@L (IV)  GlsTehsd &Gmw STUSIL ST Glouahs 5] 6% G0

[Question ID = 662]

1 (A)-(IV). (B)~(I). (C)-(ID). (D)-(TID)
[OptionID=2645] =

2. (A)-(D. (B)-(D). (C)-(IID), (D)-(TV)
[Option ID = 2646]

3. (A)-(ID. (B)-(D). (C)-(IV), (D)-(TIT)
[Option ID = 2647]

4 (A)IV). (B)-(I0). (C)-(D). (D)-(III)

[Option ID = 2648]

30)  As per the text of Siddha Maruthuvam sirappu, which one of the matching is correct?

List I List IT
A, Sarvangasanam . Induces Thyroid gland

B. Puyangasanam [II. Increases immunity

C. Machchasanam |III. Prevents andavatham
|D. Karudasanam |[V Expels kabam

Az wmSsieu APy predlsitg sths GUTHHSW Flwrears”?



aflens I suflema I1
(A) FisursisTFaTD (I) afsar GHTemmISHsT FTsuTL_LiLiHiD
(B) ywriisrFamb (II) Grmil sTHTLIY FHFH] ZyHSLILIHID
(C) w&FrFamd (IIT) T sursLe surmiosh B (5% @0
(D) smLTFeTLD (IV) suib Blsusfliiupib

[Question ID = 663]

1. (A)-(D). (B)-(ID. (C)-(III), (D)-(IV)
[Option ID = 2649]

2. (A)-(ID). (B)-(D). (C)-(IV). (D)~(I1I)

[Option ID = 2650]

* A0 B, ). @I

31)

OptioniD=2651]
4. (A)-(IV). (B)~(TID). (C)~(11). (D)~(1)

[Option ID = 2652]

How many types of Mayakka noti are there?

Wwiwss GBI sTHSeMeT suendLiLI(Rib?

[Question ID = 664]

1.

2

3

4.

32)

1.

3

[Option ID = 2653]

. 4

[Option ID = 2654]

.5

[Option ID = 2655]

6

[Option ID = 2656]

@)
®)
©
(D)
)

Choose the true statements regarding, the beverages given below

Those who intake Meat - Milk

Tuberculosis Patients— Meat soup

Obese individuals — Honey mixed with water
Emaciated persons — Butter milk

Wheat food stuffs — Kaadi (Rice vinegar)

#pssnTLsunMlsy uremsisst upmlin Flwrer uThssmsansr Gy GlFLS

(A)
(B)
(©)
(D)
(E)

TS 2 6mTey 2 aiTLISUT S 6% E - LT

Fiw Crr&lseEns@ - WTlF rFb

SUGTe FT LD 2 sTsmTeutSHEHdFH - BT HeVHS CHair
@smemS S HLILISUT S EHEE - Gomi

CHTHMID 2 _cMmTeYH6T - HTlg

[Question ID = 665]

(A). (D) only / (A). (D) @b

[Option ID = 2657]




2. (A).(E) only / (A). (E) w"_(BHib
[Option ID = 2658]

3. (B). (C) ouly / (B). (C) w_(pib
[Option ID = 2659]

4. (D). (E) only / (D). (E) wor_®1d

[Option ID = 2660]

33)  Match the correct answer from the options given below:
List I List IT
(Season) (Month)
A. Kaar kaalam I. Maasi, Panguni

B. Munpani Kaalam  [II. Aavani. Purattasi
C. Pinpani Kaalam III. Maargazhi. Thai
D. Muthuvenil Kaalam [IV. Aani, Aadi

FpssamL_sunrlsdjhg sHlwurar GUTFESs5ms Coia) GlFiis.

suflena 1 suflema 11
&MeULD LD [T &8l & 6T
(A) smisTsOD (I) wrd. LsiEe)
(B) (st usifl&smrsvid (II) =y susmfl, YriLmrad
(C) Lilsir usnfldsmsow (1) wrirsy. sns
(E) pg Gsusiflsd STaULD (IV) gyof. 21

[Question ID = 666]

1. (A)-(ID. (B)-I). (C)-(D). (D)-IV)

[Option ID = 2661]
2. (A)-(IID). (B)~(I). (C)~(IV). (D)-(1)

[Option ID = 2662]

3 (A)-(D. (B)-(IV). (C)-(ID). (D)~(I11I)

[Option ID = 2663]

4 (A)-(IV). (B)-(I). (O)-(ID). (D)-(IT)

[Option ID = 2664]

34) Which of the following is used as Scrub in Scabies?

FpeHemTLsupHmist GlFTyl. Ard HsemsE THD HmrLiL susns sTgl”

[Question ID = 667]
1. Eluppai Pmnakku ; @epyiismu Leimentrd &

[Option ID = 2665]
2. Sigaikaai / Flewsssmi

[Option ID = 2666]
3. Usilanthool / 2ok grsir

[Option ID = 2667]
4. Manipungin Kai / wenflysislsr & il

[Option ID = 2668]

35) Which of the following is not an ingredient of Panchakarpam?
FpsenTLsuDPlsh LEhF sHUSF 60 CFITs FrdE o757

[Question ID = 668]



-

- Elam / srsuib

[Option ID = 2669]
2. Mizhagu / iflem

[Option ID = 2670]
3. Kadukkai thol / s@&smis Gsmred

[Option ID = 2671]
4. Kasthuri Manjal / $&T1 10ghFsir

[Option ID = 2672]

36) Which is the blooming season of Malligai. Pathiri and Puli (Tamarind)?

wsbellemas. urTHifl, yefl (&)ensussr wsomd Hrevh s15?

[Question ID = 669]
1. Munpanikalam ; @psit uefl&& Telb

[Option ID = 2673]
2. Pinpanikalam ; (st Lesfld s maob

[Option ID = 2674]
3. Muthuvenil Kalam / qpg1Geuenlsv

[Option ID = 2675]
4. Tlavenil Kalam / (3)srGsusvilsv

[Option ID = 2676]
37) If the colour of the voided urine resembles the "colour of Hair". it indicates which of the
following disease?

QLuidlsrn Frrars Sensdipiy st Bnsemns apbBmUUlsr o s rghn s

[Question ID = 670]
1. Liver disease [ #Ts0 GHmil

[Option ID = 2677]
2. Kidney disease / fmifrs Gpmi

[Option ID = 2678]
3. Head disease / me0 GHril

[Option ID = 2679]
4. Heart disease / @)sw Cpmil

[Option ID = 2680]

38) If the messenger. touches the back, while calling the physician then ;

HTHINUST D[S SHIUMaT YswipdFHh CUTFH WPpHmeES CISTL LT :

[Question ID = 671]
1. The disease decreases / GBril Hsnpujib

[Option ID = 2681]
2. The disease increases / Grmit 1 @gtb

[Option ID = 2682]
3. Takes long duration of treatment to cure the disease / Grmi iUl £mp

[Option ID = 2683]
4. Death occurs / wyewrib o_sfrL_mgib

[Option ID = 2684]

39)  In which “Manjal Noi” heart is affected?
TS WehFsir GHTuilsh HLOTHLD susiTem LLWH NI S TenTLILIBID?



[Question ID = 672]
1. Vali Manjal Noi / suaf] wgFsr GBI

[Option ID = 2685]
2. Peru Manjal Noi y Qu@ wghasir GBI

[Option ID = 2686]
3. Kumba Manjal Noi / $oU EhFsr CHTL

[Option ID = 2687]
4. Senkamala Manjal Noi ; Qsmiswe wEhFer GHTL

[Option ID = 2688]

40) Phlegm discharge like pus and if it smells like “Ninam™ (Lymph) — is the symptom of which of
the “Tlaippu Noi™ type?

FprHd Garenl aflpst HFH Blawre Gursy Broussy eThs Femariiy Grrullst @) Hewrio?

[Question ID = 673]
1. Vali Ilaippu / suaf! @)smertiy

[Option ID = 2689]
2. Azhal Iya ilaippu / 9jLps0 2w F)ewariiyy

[Option ID = 2690]
3. Iyailaippu / gpw G)smeriiy

[Option ID = 2691]
4. Mukkutra ilaippu / @pS&SDHD Fswariiy

[Option ID = 2692]

41) “Hand pulse reading” is the best in pulse examination. is said by which Siddhar?

sma BrigCw ufBsTalss AnHsH sTar Pl AFsi wri?

[Question ID = 674]
1. Bramma muni / tlrw wpssf]

[Option ID = 2693]
2. Therar / Csri

[Option ID = 2694]
3. Agathiyar / sy&g8wi

[Option ID = 2695]
4. Thirumoolar ; Flmeapsor

[Option ID = 2696]

42) According to Vallathi Naadi. sequence the “Avathaikal” one by one :

(A) Likes food

(B) Body gets cold

(C) Developing Seethalam and Death occurs
(D) Body becomes pale and sweats

(E) Sinking of eyes

susLEOTHIWSIT BTy BTeflsiTLIlg 2 6TsT LTenT 9isubenSHsiT BIHLDaHM6T spaiTmsir Lilsir
PETDOTS suflenFLILIRSHS

(A) ysitewmsens aflHoyn



(B} 2 _Ls0 @&HemHLD
(C) FzsmupswrLmil GBTTaf] LoTswTLDTs T6iT
(D) 2 1 sb BouEnmdEn aflwidsEh

(E) ase0iT LIghFemL_wLd

[Question ID = 675]
1. (B). (A). (E). (D). (C)

[Option ID = 2697]

2. (B). (A). (D). (E). (C)

[Option ID = 2698]

3. (A). (B). (D). (C). (B)

[Option ID = 2699]

4. (E). (D). (C). (B). (A)

[Option ID = 2700]

43)  Choose the correct statement from the options given below

Statement I: If the oil on urine, gets circular shape and spreads slowly then the disease gets
relieved.

Statement IT: According to “Madhava Karpam™ book. the oil drop in urine if gets immersed.
the disease is not curable.

Match the correct statement from the options given below
& pHeNTL_suhHmsir FHLTaT Fnplsnar G51H6)% 6% S Lb.

ampn I : Bilse aflb Gl sul L suigsunTHeYd. GlosDsy  LITsusILOTHS
STemTLILIHIWTamTs HHSHTII B (FHLD.

sy II : WTHey SHULD sTsiTn Hrsdlsirig BHilsy aill L stemrGlsmriis gieflwrsrg
IYBE B STGT ZppsaHuruilst oBCET FTTE.

[Question ID = 676]
1. Both Statement I and Statement I are true / snpmi I wHpubd s poy I &

[Option ID = 2701]
2. Both Statement I and Statement II are false / &.pmi I wpmib & oy II seum)

[Option ID = 2702]
3. Statement I is correct but Statement IT is false / anpmy I & snpmy 11 Seumy

[Option ID = 2703]
4. Statement I is incorrect but Statement I is true / smmy I ssum) s pmy II #i

[Option ID = 2704]

44)  Choose the correct statement from the options given below
Statement I: There are 12 types of Pura vali suram 1s mentioned in Noi1 Naadal text.

Statement II: In Bootha suram., Seizures like Kumarakanda wvali (Muppini) with
diarrhoea occurs.

& DS eHTL suMmIsit FIWTeT fmhblsner GHinhG6%[H % ayLb.
Fpnil: GepmiupTLsy preflsiruy Yym sulfl &rhissr 12 susnsliLBib.

ampm Il us Fré5500 FGursssr sus (wprilsnfl) Gursh susfld s &u0FFa



D _&HTL_T(&HLD.

[Question ID = 677]
1. Both Statement I and Statement I are true / spmi I wpHmib s mm II &1

[Option ID = 2705]
2. Both Statement I and Statement I are false / smmi I wpHmnb s pmy I seum)

[Option ID = 2706]
3. Statement I is correct but Statement IT is false / smpmy I #1 snpmy II Ssumy)

[Option ID = 2707]
4. Statement Iis incorrect but Statement I1 is true / snpmy I Heumy smpmy 11 &

[Option ID = 2708]

45) Which of the following statement, related to Soolai Noi are false?
(A) One of the other name of Soolai Noi1 1s Murukku Noi.
(B) The types of Soolai Noi is 13.

(C)  Aama soolai belongs to curable type.

(D) Presence of sand like small stone particles in urine is characteristic feature of Ukkara
soolal.

(E) Arzhal kutram gets vitiated and leads to this disease condition.

FPSBTEILD FnDHDISaisd @Eamew GHrenwll UHDIL SIDTET Fn 1% HET
BaTH06sREHMLD

(A) @waoGprullsir Gaumy BT Hafls0 spaiTmy "pmisEH GHmi".
(B) @wemsv Gurullsir susnssar 13 oy @in.

(C) s @mmev F([HD suHSMIWF FTTHBSHI.

(D) e &srr @Hewsvullsd AmBils wenrsd Gumst AnFm NS H0H S (HHFHL0.

(E) Zjwsv amp ySlsfssn BHECHTenit o (HauTshEHiw.

[Question ID = 678]
1. (A). (B) and (C) only / (A), (B) wmmib (C) i (Hib

[Option ID = 2709]
2. (A). (D) and (E) only / (A). (D) wHmib (E) wr Hib

[Option ID = 2710]
3. (B). (C) and (E) enly / (B), (C) wmmib (E) o Hip

[Option ID = 2711]
4. (C).(D)and (E) only / (C). (D) wpmub (E) o Hib

[Option ID = 2712]

46)  Select the correct statements regarding various types of “Vaatha Noi1” as per Noi1 Naadal Noi
Mudal Naadal Thirattu Text :

(A) In Arputha Vatham Scorpion sting like sensation 1n felt all over the body.
(B) Vazhi kutram inereases during these four months of Aadi to Iyppasi.

(C)  The vaatham that has symptom of pricking sensation in Liver (Eeral) is Atchepaga
vatham.

(D) Fire burn like blisters occurs all over the body in Uthira vatham suronitham.

(E) Ocean sound like tinnitus occurring m ear is a characterstic feature of vatha kama soolai.



Grrii BT GBIl (p&Hs0 BTL s ST (H Bradlst ulg LsGaum) susns suTsd SHTIISHsT
up M F1pHsivTLsun misir FHwTeT suTdFwmiSmar i (Hib C5TkGI5HE50|LD.

(A) =2 Lsb s Cssir GOsTiigwg Gursh SHLLS DS suTSHLD.

(B) 2y @ guudl iy FIHBTTE WT5EISERD siaflsGHDnd WlGSureh
(C) =L Grus aurs530 Frawsoll uppls BsTaETH 5 SmaiLLb.

BT em 61 I (Lp ST LT (HLD

(D) @Bmuyy ul L g Gursd 21 Blsvsbsmib Glsriiusiiiugl 2 Slrsurs sGrrewisn
(E) FupdIlrb GuUTs STHenTFFs 2 aiTL TG sUTSLD. UTSET T &6V ILTGLD.
[Question ID = 679]

1. (B).(C) and (E) enly / (B). (C) wopmub (E) o Hib

[Option ID = 2713]
2. (A). (B) and (C) only / (A). (B) wmmub (C) or_ (b

[Option ID = 2714]
3. (C). (D) and (E) enly / (C). (D) wpmub (E) i Hib

[Option ID = 2715]
4. (B). (D) and (E) only / (B), (D) wphmub (E) i Hib

[Option ID = 2716]

47)  Match the correct answer from the options given below

List I List IT
A. Pulanadakkal I Niyamam
B. Nar cheyal II. Pirathiyakaram

C. Thannai adakkal |III. Samathi
D. Irandara Kalathal IV. Thanthiram

#pssanrsundlsd {Ha silwrar QuUTrHSss5ms Csiay GlFiis.

suflema I suifleme I1
(A) ysvarLssHs0 (I) mlwwib
(B) mpholFwed (II) Wrsslwrsmmb
(C) peiTemsdTILL &S50 (II) Fwra)
(D) @rowips swge® av) ppri

[Question ID = 680]

1. (A)D. (B)-(ID. (C)-(IV). (D)D)

[Option ID = 2717]

2. (A)ID). (B)-(D. (C)-(IV). (D)-(IID)

[Option ID = 2718]

3. (A)-D). (B)-AV). (O)-(D). (D)-(II)

[Option ID = 2719]

4. (A)-(D). (B)-(II). (C)-(I1D), (D)-(TV)

[Option ID = 2720]

48)  Choose the correct match from the options given below:

List I List IT
VR B PRy e o R, T ¥ A ot o R | B o i [l




ey gt s it g R R R NS S T SR ST SRR ¢ ST - W —

B. Muscle (Thasai) |II. Properties of Fire (Theyu)
C. Fat (Kozhuppu) [IIL. Properties of Space/sky (Aakayam)
|D. Fear (Achcham) |I‘v'. Properties of Water (Appu)

Fpssam_sunrlsd {hg FHwrsT GUTHS55ms Caia) GlFiis.

aifleme 1 auflena 11
(A) gyoms D d@pszaiulsr sm
(B) gows (ID) Gswailsr 5 mi
(C) Bsmupliy (IIT) =y sTIWSS6T Fo 1)
(D) &= (IV) sjuysilsr s i

[Question ID = 681]
- (A)-(II). (B)-(D). (C)-IV). (D)-(ID)

[Option ID = 2721]

2. (A)-(D. (B)-(ID). (C)-(IID), (D)-(TV)

[Option ID = 2722]

3. (A)-(IID). (B)-(IV). (C)~(D). (D))

[Option ID = 2723]

4. (A)-(IV). (B)-(TI). (C)-(I0). (D)-(T)
[Option ID = 2724]
49)  As per the text Gunapadam Dhathu Jeeva vaguppu. what is the vehicle for Sitranda mezhugu for
the treatment of Vatham and Soolai?

@HEMTUTL LD $TH &au e @Gl BrsdlsirLilg FNHDsuTL Gl p&lsn e sTHls 60 ST suTHLD
WHDID @Femev & (HLo?

[Question ID = 682]
1. Honey [ Gaxsir

[Option ID = 2725]
2. Ghee / Gpuis

[Option ID = 2726]
3. Sugar / FissemT

[Option ID = 2727]
4. Water [ SHewrewf i

[Option ID = 2728]

50) Which one of the following milk increases Sukkilam?
FHA0FmS BILHSGHW LTsD 61517

[Question ID = 683]
1. Buffalo milk / stgmemwiiumsd

[Option ID = 2729]
2. Horse milk / @B N TLILITED

[Option ID = 2730]
3. Donkey milk / &qpsmgriLimsd

[Option ID = 2731]
4. Goatmilk / a0 grarm GriLimsd

[Option ID = 2732]



51)  As per the text. Gunapadam Dhathu Jeeva vaguppu what is the therpautic duration of the
medicine Navauppu mezhugu?

STH 2eu auFliy YS555560 FpUUL_(RsiTer Bsua iy GlwpE 2 L Glsmrsrer Gsusirig i

BTGTEITGY 67607 60T .

[Question ID = 684]
1. % Mandalam / % wesr_soib

[Option ID = 2733]
2. %> Mandalam ; % ppemre som

[Option ID = 2734]
3. % Mandalam ; 34 pepr_soib

[Option ID = 2735]
4. 1 Mandalam f 1 wesrsotb

[Option ID = 2736]

52) Which one of the following is an ingredient of Gandhaga vadagam?

FPHHTL UM MIST BHHS UL HHFe CFHLD FTHF sTH!?

[Question ID = 685]
1. Kadukkai / s@&smi

[Option ID = 2737]
2. Nellikkai / Qpsvsflasmi

[Option ID = 2738]
3. Thandrikkai / grsirglésmi

[Option ID = 2739]
4. Jathikkai / sorglssmi

[Option ID = 2740]

53) Thandri podi is given in which of the following one for the treatment of Ammai noi?

STery] GluTiysni Tl SsvhH GlETHSSHTsD Hybswio GHTII K5I EHLWD?

[Question ID = 686]
1. Butter milk / Guri

[Option ID = 2741]
2. Honey / Gzeir

[Option ID = 2742]
3. Ghee / Qmus

[Option ID = 2743]
4. Butter | Qe emmii

[Option ID = 2744]
54) Choose the correct statement from the options given below
Statement I: The importance of Palagarai is mentioned in Kongkanar Kurunthirattu text.

Statement IT: In the general property poem of Palagarai states that it cures Eye diseases and
Thontham.

& pSHeNTL_sum MIsit FIWTET fnDHBlener GHTH6S B ESHaLD.

s hml 1 usvssmmuilst Glumenwsnw Bl TEISewTT HnIBSTL (B HTedlsTr epsvib
ey Mls0 LD,



s pm 1L usvssnpuilsir Glurg Genr urTLsflst afllfl BT, suTSEISTHSL B hI(FHUSTS
FnDOUL (H6TaTs.

[Question ID = 687]
1. Both Statement I and Statement II are true / spy I o s pHuy I &

[Option ID = 2745]
2. Both Statement I and Statement II are false / D01 [ oHmnd s oy 1T seumi

[Option ID = 2746]
3. Statement Iis correct but Statement ITis false / smm I &1 & nm 11 s56umy

[Option ID = 2747]
4. Statement I is incorrect but Statement IT is true / s poy I seugy s pay I &1

[Option ID = 2748]

55) “Seetham” is synonym of which plant?

"FH1b" sTeiTUF] 6ThS epsllemas uflesr Geumy Gliwi?

[Question ID = 688]
1. Panai ; usmerr

[Option ID = 2749]
2. Parankipattai / upmi&lQu snr_

[Option ID = 2750]
3. Paneer poo LisETaut i Ly,

[Option ID = 2751]
4. Parpadagam ; uphuL rsib

[Option ID = 2752]

56) Choose the correct statement from the options given below
Statement I: Thurusu has the actions of Nutrient and Astringent.

Statement IT: In the general properties of Thurusu (Copper sulphate). it is indicated for fever
and disease of mouth.

& DS eTL_suM MIsiT FIWTET i Blane GHiHG6%5(H %S ayLD.
spnl: sffAnE 2L 2 rwrss wHnib ssurlill GFiisnsssr 2 sTsrg).
g pm I g feir Qurg@enradglsd &b, suriatilenf] BRIFHUSTS FmpLriLl (Hererg.

[Question ID = 689]
1. Both Statement I and Statement II are true / sn oy I wHmub s poy 11 &

[Option ID = 2753]
2. Both Statement I and Statement II are false / gmpn I wHoib s nHun I sam

[Option ID = 2754]
3. Statement I is correct but Statement I 1s false ; sy I #1 spmy I Seumy

[Option ID = 2755]
4. Statement I is incorrect but Statement II is true s mi | seumy s pmi 11 &1

[Option ID = 2756]

57)  Choose the correct statement from the options given below

Statement I: Decoction of Kadappam pattai cures Kazhichchal,



Statement II: The reference text for Kadappam pattai kudineer is Pulippani vaithiyam — 500.
FpsaTL_unHmIsT FTLTET F»HPlsnar G51565HS50b.
Fqpni ] sLOUD Ul enL Gy B TTed SiflFFd HEIFLD.

amnm I sL b ul sn FHuy B yefliurenf snsugglwd 500 prsflst smmliur HsiTsrg).

[Question ID = 690]
1. Both Statement I and Statement II are true / snpmy I wHmib s poy 1T #i

[Option ID = 2757]
2. Both Statement I and Statement Il are false / s ppi I b s pay I seum

[Option ID = 2758]
3. Statement I is correct but Statement I 1s false ; smpmy I 1 spmy I seumy

[Option ID = 2759]
4. Statement I 1s mcorrect but Statement Il 1s true / sa mmy T seum s Hmy 11 &1

[Option ID = 2760]

58)  Match correct answer from the options given below regarding the use of palagarai parpam in
wounds

List I List IT

A. Frogegg yolk [I. Fallen injury
B. Parrot egg yolk [II. Thorn injury
C. Pigeon egg yolk [ITI. Knife injury
D. Crow egg yolk t[\". Stick injury

& 1phEHenTLauNmsf(FHSI STiLBISaflsd LS LUNUSeNS LILsTUHISSH 60 6l% LT LimesT
Friwrar GQUTHEs5ms G ey blFIH.

sufleme I suflems I1
(A) BHsusmer L swL &(H (I) saflgphs smwb
(B) Flaif! L smL & (II) @psir sMBFHS HTIILD
(C) ypr wLswL &(H (IIT) 5FNwmsd eTHUL L STWLD
(D) srésams 1L swL HF (IV) siqwmsd sTHUL_ L STuwib

[Question ID = 691]

1. (A)-D. (B)-(ID). (O)-IID). (D)-(IV)

[Option ID = 2761]

2. (A)-(ID). (B)-(I). (C)-(IV). (D)~(IID)

[Option ID = 2762]

. (A)-(V), (B)- (DI) (O)-D). (D)-(I)

[Option ID = 2763]

4. (A)-(TID). (B)- (IVJ (C)-(D). (D)-(Ir)

[Option ID = 2764]

59)  Choose the correct match from the options given below:

ListI List IT
(Thathu porul) [(Total number)
A. Ulogam I 120
B. Karasaram [II. 064




C. Padanam 1. 25
D. Uparasam [IV. 11

FpssentLsunylsd mHg Frlwrer GlUTHS55m5 CHiay GlFs.

suiflems I suflsma 11
(B8 QUT@HL_&6iT) (Qlomrs g 6T 6t swuf1ds am s )
(A) 2 Georsid (I) 120
(B) srrsrmb (IT) o4
(C) umrL_mewrib (IIT) 25
(D) 2 ursb (V) 11

[Question ID = 692]

- (A)-(D. (B)-(ID). (C)-(IID). (D)-(IV)

[Option ID = 2765]

2. (A)-(ID). (B)-(D). (C)-(1V), (D)-(ID)

[Option ID = 2766]

3. (A)-(IV). (B)-(I). (O)-(ID), (D)~(TIT)

[Option ID = 2767]

4. (A)-(IV). (B)-(IID). (C)-(I). (D)-(T)

[Option ID = 2768]

60)  Choose the correct match from the options given below:

List I List IT
(Plant) (Synonym)
A. Naaval I. Inthiran paar

B. Maruthu II. Raththa putpika
C. Mookirattai [III. Panji
D. Musuttai IV. Surabi paththirai

& passenTLsunfled) mh g FHwLrer GlUTHssHms Caiay GlFis.

suiflema 1 suflema I1
(apsblems) (GoumyGlLwir)
(A) Breusy () @BFrssr umi
(B) wmal 1) @rds yodsr
(C) apsalrsw (III) Ligpa
(D) sl em (IV) srdlusglsnr

[Question ID = 693]

1. (A)-(IV). (B)-(I). (C)-(ID). (D)-(1II)

[Option ID = 2769]

2. (A)-(I). (B)-(II). (C)-(Im). (D)-(IV)

[Option ID = 2770]

3. (A)-IID). (B)-(IV). (O)-(T), (D)-(IT)

[Option ID = 2771]

4. (A)-(1). (B)-(TID), (C)-(IV), (D)-(IT)

[Option ID = 2772]

61)  Urine voided like “Thaazha1™ juice, 1f heated 1t looks like pus with the same odour, It kills the



person in 5 years, which type of Neer :
sreny allgpslsir FrhenmuGursy Bilfluyn, smibFfar urianeausE F1Ip Gumraib, o565
BTHDSEHTH HEHD, EHT ST DESTO S Tigs) GlaTsoaihd Ghrmi ers”?

[Question ID = 694]
1. Palingu Neer [ uefliys B

[Option ID = 2773]
2. Kazhu Neer [ SupBT

[Option ID = 2774]
3. Kal Neer / &sit 51T

[Option ID = 2775]
4. Seezh Neer ; #1p B

[Option ID = 2776]

62) The characteristic features of decreased voidance of urine, bumning sensation of urinary bladder
and urethra, abdominal pain 1s the defimtion of which disease?

AmBT Fmed oerallsd Hmnhs Il sa i, Hrdsnuun Brdysnpywln srflsa)b, suulln
allibuf] GRTsawreaT @ uweoLsnL g sThE G’

[Question ID = 695]
1. Kalladaippu / seévsvemiiiy

[Option ID = 2777]
2. Neeradaippu / Bremiliy

[Option ID = 2778]
3. Neerkattu / Bi&sl 6
[Option ID = 2779]
4. Sottu Neer [ Qarl i Bi

[Option ID = 2780]

63) Pain in the eyebrows, ears, half of the body, deviation, tremors of head and mouth, absence of
blinking of eyes are the symptoms of which vatham type:

Ypaulh, Sr&. urgdl 2 by opElw @suall msaflsy etGursnd  susilujeiTmsst,
CBETEm S50, FemalsuTil BHBISD, s @emw Glar L pigwrenw Gursitn @& &enTsSsir
6TihE 6UTH5H T (HM)(FH0TGI ST (07

[Question ID = 696]
1. Paasathamba vaatham [ UTF&HSIDL UTHLD

[Option ID = 2781]
2. Urakari vaatham ; 2 r&rifl sursio

[Option ID = 2782]

3. Urakatha vaatham / o _g&s surs

[Option ID = 2783]

4. Uthara vaatham / L'Q')B'-EHIT'E_I',L'D

[Option ID = 2784]

64)

To treat the joint pain of extremities in Ammai noi steam application, with boiled “Vatta thuthi”
leaf should be given for?

a1 & %155 @amaamw oyailss pal Lligss goamw SEruilsy sreamiiu@in ms ST
FhEHIEHMT s ELD sThHemaT BTL Faflsl &(HLD?

[Question ID = 697]
1. 6days [ 6 BT &sr

[Option ID = 2785]



2. 10days [ 10 mrissr

[Option ID = 2786]
3. 12days /12 Bmoassir

[Option ID = 2787]
4. 13days / 13 prmsir

[Option ID = 2788]

65) Brammanantha Mathirai (Pills) for Iya suram, should given in :

2w FT55 0% UTbwrarhs wriSlanranil sTHamL 6T oysnjuTst 551 ST Gsuair(Hin?

[Question ID = 698]
1. Ginger juice [ @erFFFrm)

[Option ID = 2789]
2. Honey ; Ggsir

[Option ID = 2790]
3. Karpoora valli juice ; SDur susirafl srm

[Option ID = 2791]
4. llakalli heated juice ; @Eemevsssral sugssal diflhs Frmy

[Option ID = 2792]

66)

Choose the most appropriate answer from the options given below

Statement I: If fever comes on the day of the star “Kaarthikai” it should be cured in 8 days.
Statement II: If it doesn’t cure on 8th day, 1t will kill on 20" day.

A ST suhmi6r FHlwrar &shplaner GsThb65HESa)0.

ambpml: &risdleans Breflsy &I subsTel sTL L Teug) BTarilst alll (Halll Seusamhib.

s mm I sysusurmy st maug) Hraflsy el raillLmsv 20- praflsy Glsmsvaib.

[Question ID = 699]
1. Both Statement [ and Statement Il are correct / s pm [ whmib s Hmy 11 #1

[Option ID = 2793]
2. Both Statement I and Statement II are incorrect / Fbmi [ whmib & nmy 1 ssumy

[Option ID = 2794]
3. Statement 1 is correct but Statement IT is incorrect [ Fmpmi | #1 #pmy I Heumy

[Option ID = 2795]
4. Statement I is incorrect but Statement II is correct / SDmi | Saumy s Hmy 11 £

[Option ID = 2796]

67)

Choose the most appropriate answer from the options given below

Statement I: In Iya keel vayu disease, internal infection occurs leading to pus accumulation and
perforation and necrosis of bones.

Statement II: For this condition 2 — 15 drops of Muttai Ennai (Anda thylam) 1s indicated, as per
the age.

FipseimLsunmist FHwTaT & hnlsner GxTHESHESa) 0.

F&mm 1 1 mwsfdsury Crrullst o drensFHarGar yawul B FPGFTHEl sTajbenus
HImaTHEE ClETamEL o wsF GlFiiu]b.

Fmmy I @snE pr oL samblanmi (SyamLSamgeain) aunwgdE ashmeaurm 2 wpgHsd 15
Faf] susprullsh GlaTHESTID.



[Question ID = 700]
1. Both Statement I and Statement II are correct / spmi [ whmi s pmy 11 i

[Option ID = 2797]
2. Both Statement 1 and Statement 11 are incorrect / pm | whmib s pm 11 saumy

[Option ID = 2798]
3. Statement I is correct but Statement II is incorrect / s pm [ &7 s oy 11 oumy

[Option ID = 2799]
4. Statement [ is incorrect but Statement I1 is correct /| s pmy | seumy s pmy 11 &7

[Option ID = 2800]

68)

In *Neerizhivu No1”, which of the following 1s not true?

(A)  Seenthul powder 1s administered in this disease for treating burning micturition.

(B)  Worm infestation and emaciation occurs in ge stage of Avathai.

(C)  In Theran Marunthu Bharatham, Neerizhivu is compared to Sayinthavan.

(D)  This disease is hereditary in nature.

(E) Pitha Nadi, pulsates in a fast manner.

Bilflay Crrulsy FpHarsunnlel SaummeT FhHmIH6T sTemeu”

(A) @BECETullsr FHFHsw Glumgsnw FT BT eTiFF60 (F6mTL0mHLD.

(B) o1 &fls0 miswm yupEseT o e mis o 1 swa Blwsdlw GFiiaug) B-1b suHmnS T LD,

(C) Bilflay Grmism sFullhsusmer @OUll®  Gsret  w(HHSK UTTSSSE
F MOl (ReTarg).

(D) @HEEETIL ST FHaws ulflTE UTSHE (HID.

(E) U35 By allenrhs HL & L.

[Question ID = 701]
1. (C)and (E)only / (C) wpmuiv (E) i Hib

[Option ID = 2801]
2. (B)and (E)only / (B)whmub (E) wi Hib

[Option ID = 2802]
3. (A)and (D)only / (A)whmud (D) e Hid

[Option ID = 2803]
4. (A)and (B)only / (A)whmib (B) i Hin

[Option ID = 2804]

69)  Choose the correct statements, related to “Peru noi” as per Siddha Maruthuvam Pothu text
(A) This disease occurs due to self deeds and old deeds of oneself.
(B) “Baama kuttam is otherwise called as Sirangu Peru noi.
(C) Curly and thick hair is a charactenistic feature of Valaya Peru No1.
(D) Next to Sembu parpam, Velleeya parpam is said to be effective in this disease.
(E) In Swetha kuttam, Thanga parpam tablet is taken to be “Chundai Alavu™.

Choose the most appropriate answer from the options given below :

Fgs nmSs G UTE BTeflerLg QumEnmi (Ei i) ubplu £psranin & Hnsefs
FrwraTens GFTHeSH1ES0D.

(A) sarallsner uypallsmarssrrsd @HEGEHTIL LMD,

By VITInT "1 1n e ey g N RS LT A’ ATET A 1]



(C)  wullrser &mavr® Srl FAwrag susnsrwl 6L HEEHTIL B LD,
(D) GFolhE @rowerusrs @ EEETWS ElausTal i &m plul Gerars

(E) #Geaus G580 sms ubu wrsdlamr 2 (Gl osmey Faman &Il S)arsy
S, 1D.

[Question ID = 702]
. (A).(B)and (C)only / (A), (B) wmmub (C) ot Gib

[Option ID = 2805]
2. (C).(D)and (E)only / (C), (D) wpmic (E) o’ G

[Option ID = 2806]
3 (A)and (B)only / (A)whmyis (B) i Gid

[Option ID = 2807]
4 (D)and (E)only / (D)whmui (E) w Gib

[Option ID = 2808]

70) Identify the statement which are incorrect about Oothal noi?
(A)  Yakkutham 1s the other name of Oothal noi.
(B) Getting angry frequently on women, is a symptom of Mukkutra oothal noi.
(C) The general condition of the disease 1s elaborated in Theryar Gunavakadam text.
(D)  This disease occurs due to vitiated Iya kutram.
(E) The dosage of Irumbu karisalai karpam is 10-20 kundri.
aargs) GBI uHPw FDETENID FDRISaTs) SeunDTaTsHl T
(A) wHHs stedrg @HEEETILE®H Goumy EuwrmEin.
(B) jlg EHELg BlusTSsT ST FlayT B B) & TsiTamsl) pEHHD SUHE
oarF6) BB ELD.
(C) Garsit Hemrsurs Brsdlsy @ HEHETUlsT GluTs) (&1l SsT Fmnliul’ [BsTsarsg.
(D) sw@Ehph Wgss @HEETemW noiEFD.

(E) @4l suyprigio @) mioys sflFrama shusslar seray 10-20 st susnr =y,@Lb.

[Question ID = 703]
- (A),(C)and (E) only ; (A), (C) wpmid (E) i Bib

[Option ID = 2809]
2. (A),(B)and (C)only / (A),(B) wphmyd (C) wi Hid

[Option ID = 2810]
3 (B),(C)and (D)only / (B), (C) wimyid (D) o’ Gis
[Option ID = 2811]

4. (C).(D)and (E) only / (C), (D) wpmub (E) o’ Gub

[Option ID = 2812]

71)  Choose the correct match from the options given below:

List I List IT

i(Nnme of Medicine) (Indication)

IA. Paalai thandu kudineer I. Kulir suram
T T e T T, Y




P R T | e KA i B A 5T

C. Chitramutti kudineer 111 Vali muppini suram
|D, Thaippal kudineer |IV Pitha suram

FipssamsuhnlelKBxH FrlwmeaTr Gurmissms Gxiay GlFils.

| aflens | | auflens 11

| ) | B> Gprii)
(A) uTensuEFZamD FHig b (I} @aflt &Tid

(B) Gumrmupl g + #&F FHigBT (II) wpswp Hrid

(C) #Abmmipl iy HyBT (I11) sus! @plilewfl &rib
(D) smibdurey FHig BT (IV) U5 &b

[Question ID = 704]
T (A)H(IV), (B)D), (C)-(1D), (D)~(111)

[Option ID = 2813]
2. (A)-(T), (B)IID), (C)-(I1), (D)-(IV)

[OptionID=2814]
3 (AHIV), (B)IID), (C)(ID), (D)-(T)
[OptionD=2815) . . .. ...
4 (A)-(D. (BN, (C)-(II). (D)IV)

[Option ID = 2816]

72)  According to Siddha Maruthuvam Pothu, match the following

List 1 List 11
(Name of disease) |(T ypes)

\A. Ninakazhichal [l 8 types
B. Gunma Noi II. 20 types
C. Mega neer I 11 types
D. Moolam V.21 types

A5 wEmSHIuD Qurg mredlsr uy SpssarL Qurmpsssla sllurarams C5iHE5H

anflems [ anflsos 11
(Gpmis) (uemsEsiT)
(A) BlemrEsLflFFsw (I) 8 susw=
(B) mebro Grmi (1) 20 suens
(C) Gus B (1) 11 susnss
(D) apevid (IV) 21 auens

[Question ID = 705]

T (A)(D), (B)-(III), (C)-(I1), (D}-(IV)
[Option ID = 2817]

2. (A)-(II0), (B)-(I), (C)~(I1), (D)H(IV)
[Option ID = 2818]

3+ (A)-(D), (B)-(ID), (C)(IID), (D)-(IV)

[Option ID = 2819]
4 (A)(IV), (B)-(IID), (C)AD), (D)-1T)

[Option ID = 2820]
73)  Which of the following disease causes intolerable pain in the uterus during menstruation?

Ly sremsais &musmuulls) srublsramr susllysmorgn Srri
BEAN

[Question ID = 706]
1. Nithamba soolai / BS0U GHsnsy



[Option ID = 2821]

2. Karpasoolai / &Tiu @&as0
[Option ID = 2822]

3. Karpa kirani /  &idiu Slymewt]
[Option ID = 2823]

4. Scol magotharam [ &s0 wEHTHTiD

[Option ID = 2824]

74) In which of the following phase of menstrual cycle does ovulation occur?

EpsamL aThS L0y FphFA Blspalsy smnds Serrdf penLGumsling?

[Question ID = 707]
1. Menstrual phase / Wy STe0ib

[Option ID = 2825]
2. Follicular phase / uflfsnar ywaliay sravid

[Option ID = 2826]
3. Secretory phase / &Iy STevid

[Option ID = 2827]

4. Premenstrual phase / (LP&3T LLLIL] STa0LD

[Option ID = 2828]

75)  “Malasalathuvaram perithundam thinkalaril” — whose statement is this?

"wevFsESsumTiD Bl et mib g?n’..r&;slrrr'r_r}]sb" @& wrmemLw FnHoy?

[Question ID = 708]

1. Agathivar ; =mys58wi
[Option ID = 2829]

2. Yugi / wsl

[Option ID = 2830]
3. Parasarar [ urTEri

[Option ID = 2831]
4. Dhanvanthiri / sebreupbSf

[Option ID = 2832]

76) Which of the following hormone is responsible for Ovulation?

6ThE anTTGuTatlsT srambsars srwd Saridf snubB£ns”?

[Question ID = 709]
1. Oestrogen sTerUIy Grmegsit
[Option ID = 2833]
2. Progesterone [/ OGrmElgmenig Srmsir
[Option ID = 2834]
3. Follicle Stimulating Hormone /ufiflsnar @pglr snsudbgin wpiiy (ursdlé st sivig ipGevig w1 anmiGiomsiT)

[Option ID = 2835]
4. Leutinizing hormone / QITL 1q sDaTFIGI QTG Tair

[Option ID = 2836]

77) What is the method used for the purification of Ven sivathai root used in Seenthil kudineer
mentioned for mantha suram?
WwThS FTEBDE LwsTURD FEHD Swrpssls CFrésliu@ln Fausmns

e e aa e g s



oaldalll archahyl lalarWLYLL (Lpebh L)

[Question ID = 710]
1. Process 10 times in Cow milk / 10 ypemp usin ursdlsd

[Option ID = 2837]

2. Process 10 times in Cow butter / 10 yenm us Gausimsnswruilsy

[Option ID = 2838]
3- Process 10 times in Cow curd / 10 e usaller 5ullflsd

[Option ID = 2839]
4. Process 10 times in cow dung juice /[ 10 wenm Fremiuradlsy

[Option ID = 2840]

78) The medicine indicated for Therai kanam is :
BaanTE SaTSH D& W(HEHID eTH)7

[Question ID = 711]

1. Vallarai ner / susvsumsmr GT:I_F,I:I'J

[Option ID = 2841]

2. Pulladi ennai / YsiTemy. sTewoT@smiis

[Option ID = 2842]
3. Balasanjeevi mathirai ; ums #Fg5fall gy

[Option ID = 2843]

4. Marul ennai / wgsir sTasTElSRTII
[Option ID = 2844]

79) Which medicine is indicated for Marar suram?

LTDH FTHSDEG L HSHD 6157

[Question ID = 712]
1. Uththamaninei / 2 Ssmwswnil GlH

[Option ID = 2845]
2. Vazhuthalai chooranam ; su(p&ene) (& JewTio

[Option ID = 2846]
3. Athimathura choornam / <SW&HIT & Temrio

[Option ID = 2847]

4. Pavattai kudineer / umsaulsmL GHipHmT

[Option ID = 2848]

80)  Choose the correct statement from the options given below
Statement I: In Oophoritis menorrhagia, dysmenorrhea, dyspareunia are present.
Statement II: In Oophoritis there may be excessive discharge from cervix.
Fpsem_sunmstT FTwTaT & hnlsnear GxihESHESaLD.
sanm | FAswartienu srulssHls0 Qumour®., yliy susdl, yeariFF sueld] sTamib.

apml Il : Aemarienu sTUlE550 S WHS e HHE B &T55 SFay 6suaf L.

[Question ID = 713]



1. Both Statement I and Statement Il are true / s pmy | wihmib s pmy 11 #4

[Option ID = 2849]
2. Both Statement I and Statement I are false / Fbmy [ whmib s nmy 1 ssumy

[Option ID = 2850]
Statement 1 is correct but Statement 11 is false / &by [ 57 & pmy 11 Heumy

w

[Option ID = 2851]
4. Statement | is incorrect but Statement 11 is true / FDHmi | saumy s oy 11 &

[Option ID = 2852]

81)  Choose the correct statement from the options given below:
Statement I: Agathi ennai is indicated as direct medicine for Oothu karappan.

Statement II: When agathi ennai 1s given at the dosage of Uchchikarandi for 3 days, it cures all
types of karappan.

FipsamL_suhmist FHWTaT & nnlaner GxihHESH S50,
Fmhmi | o%55 sraimensmnil porgy STOUTEE®H GBI GBS %0

Fampm I o558 sramsnanruilsnen o FF sramyg oarsy 3 GrensndF LETHSH aur
STEUSUT ETLILITENIL & (HLD.

[Question ID = 714]
1. Both Statement I and Statement II are true / FHmy | whmih s Hmy 11 #il

[Option ID = 2853]
2. Both Statement I and Statement II are false / spmy [ whmin sbm 11 seaumy

[Option ID = 2854]
3. Statement I is correct but Statement I1 is false / spmy [ 511 sapmy 1T Ssumy

[Option ID = 2855]
4. Statement 1 is incorrect but Statement Il is true / #=pHmy [ sumy = poy 11 #M

[Option ID = 2856]
82) Which of the following statement about menstrual phase 1s correct?
(A) Itis increased in cold regions (countries).
(B} Itis decreased in hot regions (countries).
(C)  Itis increased by intake of Aphrodisiac food.

(D)  Itis increased by sexual indulgence.

LliyE sl uhpiiw FTWTeT & Hm sTH

(A) Haflt CoFhusallsy o5sM55 &Tamib

(B) Qeuliu CaFrusaflsy HsmDhE &Tamib

(C) srTwsens sraimpil o arayl Gumplsanar oslsn YALLSTD Bl slEHD.

(D) &l upEENPEEBIFETSD sTETMTID BlFalaSTsh yHlHTEFLD.

[Question ID = 715]

1. (A),(B)and (C) only 7 (A), (B) wpmiid (C) o Bin
[Option ID = 2857]

2 (A)and (B) only / (A) whmiiv (B) o Bid
[Option ID = 2858]

3 (C)and (D) only / (C) whmuid (D) i B



[Option ID = 2859]
4. (B),(C)and (D)only / (B),(C) whmid (D) o @ib

[Option ID = 2860]

83) Choose the correct match from the options given below:
List I List I1
(Disease) (Sign & symptom)

|A. Vatha perumpadu |I. Salivation

B. Pitha perumpadu  II. Vaginitis

C. Sethuma perumpadu [1I. Palpitation
D. Thontha perumpadu V. Headache

FpdsamLsubhnled5h% FHlwrar BuTFissams BxTay GFis.

‘ aflens 1 | auflsns 11

| (Gpris) | (Gl gen)
(A) surs Gu@mbuTE (I) sumis B ssrmed

(B) &5 Qupoum (1) Qumresf! sTllsn

|{C) G (B Glumhur® |{III] Uty

‘{D) BETHS GluELLUTH |{IV] Famavauad]

[Question ID = 716]

T (A)-(IV), (B)-(11), (C)-(I), (D)-(1IT)
[Option ID = 2861]

2 (A)(ID), (B)-(IV), (C)-(1), (D)-(IT)

[Option ID = 2862]
3. (A)-(II), (B)-(1D), (C)-(IV). (D)-(I)

[Option ID = 2863]
4. (A)-(IV), (B)-(II), (C)-(T11), (D)-(T)

[Option ID = 2864]

84) Choose the correct match from the options given below:

List I List IT

A. Neer kanamantham |[. Katrazhai ennai

B. Raththa kanam I1. Amurthathi kulikai
C. Therai kanam II. Sathikkai ennai

D. Vida Kanamantham [IV. Vallarai nei

FpssamsunnlellFhs FHlwrer GurEssdsams Gsiay GFilis.

aiflens | aflens 11
(A) BT SaTLTESLD (I) shprenw sTe6lamri
(B) 155 sentid (1) Hupizrs Geflms
(C) Gxsmr Hemrid (1) srgl&Esmi sTevmllemmiis
|{D} el HemTLoTHSLD ‘{W] sussOTEmT GlHI

[Question ID = 717]
T (AHD), (B)-(IV), (O)-(1I), (D)1)

[Option ID = 2865]
2. (A)(IV), (B)-(I), (C)AI), (D)~(1L)

[Option ID = 2866]
3. (A)(ID, (B)-(11I), (C)-(IV), (D)-(1)

[Option ID = 2867]



4. (AHIV), (B)(ID), (C)-(TIT), (D)-(11)

[Option ID = 2868]

85)  Cross infections occuring in hospitals are called as:

LD(Fd Bl U LDsNET S 60 Bk (P SlTmeny (@) srhlusFagsit sTeusuTn eppssluBaE s

[Question ID = 718]
1. Primary infection / dsorwed @snGlussagsr

[Option ID = 2869]

2. Reinfection / 7 (@] el ssag.ar
[Option ID = 2870]

3. Nosocomial infection / CRrEsrEsrulwe (@ &relussag s
[Option ID = 2871]

4. Secondary infection [/ Qssem A Garcusagsr

[Option ID = 2872]

86) Find out the false one from immuno suppressant agent mentioned below :

Epssamsuhpls Gpmil sTHiliy FE&Senw GHmDEGHLU0 ETrent oarss 15 7

[Question ID = 719]
1. Cortico steroids / ﬁﬂ'ﬁ'tq.l::él;rl'ﬁfl}mu'ﬂ'tbl'_m"l}

[Option ID = 2873]
2 Xray / erdeivGr

[Option ID = 2874]
3. Adjuvants / 9| L_&6usiTL_610

[Option ID = 2875]

4. Radiomimetic drugs / Grig Guirsmiowoig & L rdsn

[Option ID = 2876]

87) Give examples for delayed hypersensitivity ;
&MU STLPHS snanliui Glestdl el n&E o STrenThd 5Hs

[Question ID = 720]
1. Anaphylaxis [/ ﬂmmumra‘mﬂa‘u

[Option ID = 2877]
2. Arthus phenomenon / DTS e LierrGloessr

[Option ID = 2878]
3. Tuberculin type infection / LT &6El6H suens GlBTHMI

[Option ID = 2879]
4. Serum sickness / £ Fderrs

[Option ID = 2880]

88) In which year the National Herbarium at Calcutta was started by British East India Company?

Ul gy eig AypsflhHw so6luafiurs wiflu Csfw CaniGuiwib shs Sy amEH

HUHHHTOND Hloumsiil L g7

[Question ID = 722]
1. 1754

[Option ID = 2885]
2. 1873



[Option ID = 2886]
3. 1737

[Option ID = 2887]
4. 1883

[Option ID = 2888]

89) " Which one of the following family belongs to the order Parietales?

£ 1pHanTLsuDII6T sThs &HH 0D LanTl BL Ve Slemmenw FTibss?

[Question ID = 723]
1. Nymphaeceae / BnGuAGW

[Option ID = 2889]
2. Annonaceae / 2| CarrBesord) Bu

[Option ID = 2890]
3. Menispermaceae / QuoaflsivGLITrGuAGW

[Option ID = 2891]
4. Brassicaceae [/ UrrenlfGsAGw

[Option ID = 2892]

90)  Which order has Obdiplostemonous stamens?

=y Uiy 1 @arTsio BL_LA&iTs0 WEThS FTarssnsT GluDmysTaT Fenn 757

[Question ID = 724]
1. Malvales / wrsoBausban

[Option ID = 2893]
2. Geraniales [ Glzo@resf Bwsvai

[Option ID = 2894]
3. Sapindales /| BrfleTBL_svaiv

[Option ID = 2895]
4. Rosales / Grr@ssvsiv

[Option ID = 2896]

91)  Choose the correct statement from the options given below
Statement I: The medicine bacitracin 1s obtamned from the bactenia bacillus brevis.

Statement II: When Bacitracin 1s administered in injection form produces toxic effects.

Fpsamsunny st FHlwurar :onamear GasrhbshESaL0.
Fa@mm 1o Bufl rfer  ersiTayld  WHEHA  Guddssv UGrailsiv  sTeiTamib

ursleflug s Fhs S SEngl.

Fpny I - BufAl rfenar  a2arFl  ppand  BpTwTsfElFF  CFaSSlaTTed

BEbFSE6Tmioml THLBH S5 STDE)-

[Question ID = 725]
1. Both Statement [ and Statement II are true / F=pmy [ wpmnd & Hy I &

[Option ID = 2897]
2. Both Statement [ and Statement II are false / Fpm) [ wpmnin & oo I samy

[Option ID = 2898]
3. Statement I is correct but Statement 11 is false / &Py | #f) &y 1T saupy

[Option ID = 2899]
4. Statement [ 1s incorrect but Statement I 15 true [ #mmy [ saumy sonymy 11 =1



[Option ID = 2900]

92) Which of the following statements about Lichens are correct?
(A) Parmelia saxatilis cures epilepsy.
(B} Peltigera canina 1s used to treat dog bite poison (Hydrophobia).
(C) Ewernia furfuraceae has styptic action.
(D) Cladonia pyxidata cures intermittent fever.

(E) Parmelia perlata has resolvent action.

uTHE srarTsTEsT UPDH FPEATL Fn HNISEHET FHWTaTANND BHTHb S HESLD.
(A) urtGrsaflr FréFyeflan sSTEans usfitiy CHTaNIL (FaMOTSHISTNE.

(B) Gushigzdlrr Gseaflewm BrilEsly BEhenF B HHESTDE.

(C) srauiaefiwr uiulrfGw garodurs QFwiubng.

(D) HerrELrafwr dl&anfBL L T 1penDFTHng HanTLET S HH 6T DS .

(E) urfSwsflwr QUi Lr afdstismrsd DFlens 2 anl Iug).

[Question ID = 726]
1. (A). (C). (D) and (E) only / (A), (C). (D) wpmub (E) i Gib

[Option ID = 2901]
2. (A). (B). (C) and (E) only / (A). (B). (C) wpmit (E) ol pib

[Option ID = 2902]
3. (D) and (C) only / (D) wpmuid (C) i (o

[Option ID = 2903]
4. (C). (D) and (E) only / (C). (D) whmpie (E) wi b

[Option ID = 2904]

93) Choose the correct match from the options given below:
List I List IT
(Family) (Order)
A Clusiaceae L Rosales
B. Rutaceae i Sapindales |
C. Anacardiaceae -EIII. Guttiferales |
D. Fabaceae IV. Geraniales :

FpssavLanBlaflBhs Frurar GuTHEss5amns S5y blFls.

suflemas 1 ' suflene 11
| (& @ buib) . (H1mp)
(A) BEpdCuACU I @rreseian '
(B) GGELAGW D Grufer@afan
(C) Sy s E g S F G (I]I) &L 13 QUG rsvsie
©) GuGuAGL (V) Qemrref@ussv

[Question ID = 727]
1. (A)-(IV), (B)-(D). (C)-(ID), (D)~(III)

[Option ID = 2905]
2. (A)-(IV). (B)-(D. (C)-(D). (D)-(TID)

[Option ID = 2906]
3. (A1), (B)-(ID). (C)-(IV). M)-(D



[Option ID = 2907]

4 (A)-ID), (B)-(IV), (OH1ID). DM
[Option ID = 2908]

94) Choose the correct match from the options given below:
Litl  Lstll
|(Special features) ;(Famil}-')
A Gynobasic stvle I Solanaceas
B. Plicate thickening I Lamiaceae
C Leaf adnation III. Convolvulaceae

|D. Spikelet inflorescence IV. Poaceae

FpEsanTLaNnsfmES Frwrar GuTFEssEams B5Ta) blals.

suflsne 1 suflens I1
(Apiiy geirenio) ' (BGibuib)
E(A} & BT 3uFE HassHHTH (I) GlFrarBarfGuw
®) Fed8s0 sp0y |an GaweuAG
(C) oFH1 oyjig Baragsir | setrGairdn@aaGu
(D) svenLE@ar G weseh V) eurGuscw

[Question ID = 728]

1.

2.

3.

4.

(A)-(ID), (B)-(110), (C)-(T), (D)-(TV)
[Option ID = 2909]
(A)-(IIL). (B)-(11). (C)-(D). (D)-(IV)

[Option ID = 2910]
(A)-(D, BYIID). (C)-IV), (D)-(T)

[Option ID = 2911]
(A)-(ID. B)-(D). (C)-ID. (D)-(IV)
[Option ID = 2912]

95) The duration of Rigor mortis mostly in winter season is

RIuFBUTRIE Hafli sraogslsh Haorallsnnliys s6rann Bl SH(HESSmm 1910 ST00

STEITEIT T

[Question ID = 729]

1.

2.

3.

4.

6 to 12 Hours / 6 apss 12 wemfl BBmib

[Option ID = 2913]
12 to 24 Hours / 12 @pssv 24 wewfl Gprib

[Option ID = 2914]
24 to 48 Hours / 24 qpge 48 wenfl Sprib

[Option ID = 2915]
48 to 96 Hours / 48 npzev 96 wewfl BBrib

[Option ID = 2916]

96) Permanent canine teeth is formed in which age :

Blenstwmer GETanriunEar SHTeTn/h oI g sTeirer !

[Question ID = 730]

1.

2.

3.

7—8 years / 7 wpa B suwglsd

[Option ID = 2917]
10— 12 years [ 10 gpzsv 12 suw gt

[Option ID = 2918]
13 — 14 vears / 13 npss 14 s £l



- by petr N0 — Chl

[Option ID = 2919]
4. 16— 24 years [ 16 wpzs0 24 sauwglsd

[Option ID = 2920]

97) Which of the following is not mentioned as an antidote for Strychnous nuxvomica (Etti)?

P& peiTn) eTL g K polaiinEg FsnuiuL aildamea

[Question ID = 731]
1. Cortex removed bark of Eugenia jumbolina (Naval pattai) / ypsnf] BSs000 L Brassbiul spr

[Option ID = 2921]
2. Seed removed Terminalia chebula (Kadukkai) / Qarisn B8l s@Esmil

[Option ID = 2922]
3. Piper betle (Vetrilai) / Glsuppjlsmev

[Option ID = 2923]
4. Sesban leaves (Agathi) [ D $SPHE 0T

[Option ID = 2924]

98) What is the Anti dote for Food toxicity :

2 snTeyd BFTL_SFlT BesF wpriley sreiTer?

[Question ID = 732]
1. Uthamani ver kudineer / o_ggmwsni Baui @y B

[Option ID = 2925]
2. Honey / Bgsir

[Option ID = 2926]
3. Lemon juice / stqyufld#1b Liupdsrmy

[Option ID = 2927]
4. Cold water / @l 5 B

[Option ID = 2928]

99) What is antidote for Gloriosa superba?

BETLDANPEBIFT BehFupnlay sTeTsm?

[Question ID = 733]
1. Borax & water / Qeudisrmb whmib B

[Option ID = 2929]
2. Cumin seed & Hot water / FT&Lb whHniik Gleup BT

[Option ID = 2930]
3. Root bark of Indigofera tinctoria & Hot water / =ysyil GauiulsnL_ ommnb Glaupit

[Option ID = 2931]
4. Fruit juice of White Azima tetracantha / Gleausiremsrd FBIED UpFFTHI

[Option ID = 2932]

100) The tuber of Corallocarpus epigaeus (Kollan kovai kizhangu) is indicated for which bite?

RlETRST B TSR LEISNE D eNTHEE ETHES H B HehF a7

[Question ID = 734]
1. White Scorpion bite (Ven thel) / Qauam3s6r mess

[Option ID = 2933]
2. Black Scorpion bite (Karun thel) / sm5E 54T B

[Option ID = 2934]
3. Big Scorpion bite (Perun thel) / QlupEEsaT HiepH



[Option ID = 2935]
4. Small Scorpion bite (Siru thel) / Fm1 Bssir Behs

[Option ID = 2936]

101)

Choose the correct statement from the options given below

Statement I: Drvness of throat, difficulty in swallowing, throat pain etc., are the toxic
symptoms of Datura seeds.

Statement II: The toxic dosage 15 30 — 72 seeds (0.6 to 1 gm).
FIpFSTL_ UMD sit FHLTaT & Hplanar S5k LS HiESa)Lb.

F=omn I @ Qarewmen 2 FH0, allwhis puywrmn, bsramm el wsafluena
aarinhensg ST hehdd HDEHMTEIETT(HLD.

Fmm II: smngeng allens Bepfar e wims gsray 50 s 75 allsngxar (0.6 s 1
Srmin).

[Question ID = 735]
1. Both Statement I and Statement II are true / #pmy [ wpHmnbd &nmy I #10

[Option ID = 2937]
2. Both Statement I and Statement IT are false / Fim [ Hmnib &nn I samy

[Option ID = 2938]
3. Statement [ is correct but Statement II is false [ & pmy I # #nimy I saumy

[Option ID = 2939]
4. Statement I 1s incorrect but Statement Il 1s true / s=pmy [ seumy s noy 1T F11

[Option ID = 2940]

102) Choose the correct statement from the options given below

Statement I: If anyone of the 16 types of Viriyan snakes bite, neem oil should be consumed
immediately.

Statement IT: Inhalation of Rasa pugai cures Virivan snake toxicity
FpsamsunnsT FHlwrar s onmear GxihbshHEsaL0.

Fhmi 1 16 susns eflflwsit UTbYSEReT aTH S SFTAIE 2 | aTiguTs
Baulrbiuairh el iy S5 BausamEIb.

Fpmy I @rsd yansullmear apsslear suflurs apensruilsd sthnflermst aflflwer umiby
BERFEET WTaYLD FHD

[Question ID = 736]
1. Both Statement [ and Statement II are true / FDmi L iommitd & pHmy 1T s

[Option ID = 2941]
2. Both Statement I and Statement II are false / Fpoy I wpHnnt & boy I saumy

[Option ID = 2942]
3. Statement I is correct but Statement I is false / s pmy I #f) sy 1 saumy

[Option ID = 2943]
4. Statement I is incorrect but Statement ILis true / sopymy [ saumy sopmy 11 1

[Option ID = 2944]

103) Which of the following statements regarding personality disorders are correct?

(A)  Lack of showing love, care and affection to others.
(B)  Uzge to involve in anti social activities.
{C) Lack of normal conscience.

(D)  Visual hallucinations.



FhSeHTL_DHDIST S EHEND ST LTHUTEH UHDIW FHWTST F= HNISHAT HATL_1) Wb,
(A) dpfliib gyeiny sTGagld. upgugs, utfls) STl Paugld Gaopay.

(B) =Fups allGrms LlFwsisaflsd FHUL STAT(HSHED.

(C) warplas Gmpay.

(D) @ebblurmst ST,

[Question ID = 737]
1. (A). (B). (C) and (D) only / (A). (B). (C) wpmid (D) oL B

[Option ID = 2945]
2. (A), (B) and (C) only / (A), (B) wwpmutp (C) o (Hub

[Option ID = 2946]
3. (A). (B) and (D) only / (A}, (B) opymuib (D) " {Gib

[Option ID = 2947]
4. (B). (C) and (D) only / (B). (C) wpmyb (D) oL’ Hib

[Option ID = 2948]

104)  \Which of the following statement regarding lacerated wounds are correct?
(A) The wound 1s irregular in shape.
(B) Caused by irregular and sharp weapons.
(C) The Borders of the wound 1s regular.
(D) Redness is seen around the wound.
(E) The cut ends are clear.

s aunrst  fAepghs | sTwmsEsT unhiiw spnssaiss FlursTsuhenn
BFTHESHESLD.

(A) puemsHD angaoTs )G,

(B) siempwimem STHLpTL T DU FEISaTT 2 sl _THLD.
(C) sTwSF&T presear puursTs ) HEHi.

@) srwd ule ugSmu sH1 Aaps STETOLGID.

(E) Qaul@ani Csaflurs ZmEmLD.

[Question ID = 738]
- (A). (B). (C) and (D) only / (A), (B), (C) wppib (D) o’ Gib

[Option ID = 2949]
2. (A). (B) and (E) only / (A), (B) wpmute (E) i Gib

[Option ID = 2950]
3. (A).(B)and (D) enly / (A). (B) wpmuib (D) wor”_{Hib

[Option ID = 2951]
4. (A). (B). (C). (D) and () only / (A). (B). (C). (D) wpmub (E) 1wt Hib

[Option ID = 2952]

105)  Choose the correct matching of the toxic substance and the organs to be sent for toxicological

examination

List I List IT

A. Alcohol I Uterus
|B. Abortion 1. Heart

C. Nerium oleander toxicity [IIL. Blood and Urine



!D_ Insecticide IV. Lungs and Kidney |

BehF0 GlurBlsEpl Gauglwsd opibads ain Safmgn 2 1 & 2 milsEhb
RETHESLUL (Hararg FrluTar QuTbissms BHTHELISH :

| auiflens 1 | suflens 11

|(A} FTTwiLh i(I} &H(HLIanU

|(B) & [HEFF e ay !(ID Zlswb

©) 2irsh pess D 568 whpid SpFt

|(D) L FFE Glarsvall mHS i(IV) BlIsnrufrs whHnib fAniprsb

[Question ID = 739]

(A0, B)-(ID). (C)-(TID), (D)-aV)
[Option ID = 2953]

2 (A)-(IID). (B)-(D. (O)-(II). (D)-(IV)

[Option ID = 2954]
3. (A)(ID. (B)-ID), (C)-(D). (D)-(IV)

[Option ID = 2955]
4. (A)IV). (B)-(D. (O)-(1I). (D)-(II)

[Option ID = 2956]

106)  Choose the correct matching of Antidotes for food stuffs and Toxic substance

List I List II |
A Latex of Sarcostemma brevistioma (Kodikall) iI_ Raphanus sativus (Tube.-r}.
EB. Ghee (Nex) EII. Decoction of tobacco

C. Hens egg (Kozhi Muttai) EIII. Juice of Coccinia indica
D. Banana (Vaazhai pazham) |IV Cow’s mulk

o _saTeyls LlUmFLEET wHNIE e GUTBLSEED SunB&ar Bess playsEepl upnliu
Frlwrsw GUTHSSHNS BHTey blFlS.

auflens 1 | auflens I1
(A) Glemgsssrafiiumsd i(I) LpeiTaT RIS S FpEIE
®) Gpi @ ymamas suit
|(C) Garflopen i(IID Barensudsrm)
|(D) SUTenoLILILpLD i([V} usailsr urst

[Question ID = 740]
1. (A)-(IID). (B)-(IV), (C)(T). (D)-(ID)

[Option ID = 2957]
2. (A)-(IV), (B)-(IID), (O)(ID). ™)~(D

[Option ID = 2958]
3. (A)IV). (B)D. (C)-(IID), (D)-(ID)

[Option ID = 2959]
4. (A)-(ID, (B)-(IID), (O)-(D). D)-(IV)

[Option ID = 2960]

107) Who are mentioned as “Ganapangavaathikal™?

FEMTURISUT ST wmeui?

[Question ID = 741]
1. Samanar [ FewTi

[Option ID = 2961]
2. Vaisedikar [ @iy st



[Option ID = 2962]
3. Pouthar [ Quargst

[Option ID = 2963]
4. Grekar /| H3rdst

[Option ID = 2964]

108) According to “Thotrakiramma Aarachi” text, the varients of Rasam are :

BaTHDESTD yrmlFF mreflaruy GrssHlear allSEIE6T sTSSamar!

[Question ID = 742]

1. 3
[Option ID = 2965]
2. 4

[Option ID = 2966]
3. 5

[Option ID = 2967]
4 5
[Option ID = 2968]

109)  Among 9 Thirumeni of Sivam which is classified as “Aruvam™

AsugFleir spaituzg) FHEwet Haflsh o Haul etz

[Question ID = 743]

[Option ID = 2969]
2. Ag f i

[Option ID = 2970]
3. Swvam [/ fleaub

[Option ID = 2971]
4. Eesan / masiT

[Option ID = 2972]

110) Which of the following falls in “Suththa Maayai™?

FpauHauaTDMIST F&H5 LOTaDIL sTH] 7

[Question ID = 744]
1. Vinthu / aflbs

[Option ID = 2973]
2. Antha Karanam / <bSSreniih

[Option ID = 2974]
3. Kalai /| &sws0

[Option ID = 2975]
4. Purudan / Y®LsiT

[Option ID = 2976]
111) " Choose the correct statement from the options given below
Statement I: “Muppu (Elixir)” is a natural thing.

Statement II: It 1s ike “Crown of Siddhars™.
FFATLauBm§it FHWTaT FDplenar G5k 0S50 ESHaLb.
Fmnm I gpoy asrug Gwuhamsl ©umgET.

s nm Il 0 o5 FE55106 wenfloEg b Gurstngl.



[Question ID = 745]
1. Both Statement I and Statement IT are true / s=poy I wHmnd &by II &l

[Option ID = 2977]
2. Both Statement [ and Statement IT are false / & Hoy I wnnnd &b I sauny

[Option ID = 2978]
3. Statement I is correct but Statement ILis false / &= pmy I #1 =mmy I samy

[Option ID = 2979]
4. Statement [ is incorrect but Statement I is true / #pm [ ssumy s pmy 11 &A1

[Option ID = 2980]

112) Which of the following books are written by Siddhar Korakkar?

(A)
B)
©
D)
(E)

Santhira regai 200
Namanasathiravokol 100
Ravimegalai ezhupanainthu
Nayana roga vithi

Mukkanda soothiram

Fpseam Dy st SErrEsi Ai50 Tl Eridsenst Gaieay CFls.

(A)
(B)
©
D)
(E)

FhArErens 200
BUETFSSNaysrsd 100
Tall BloE e sTILUTsnsThE]
BLaTErTsS ails

(LSBT @b ST

[Question ID = 746]
1. (A). (B) and (C) only / (A). (B) wnmib (C) i’ Hib

[Option ID = 2981]
2. (B).(C) and (D) only / (B). (C) whHmuib (D) o {Hub

[Option ID = 2982]
3. (C). (D) and (E) only / (C). (D) wpmib (E) wi Gib

[Option ID = 2983]
4. (A). (E) and (D) only / (A). (E) pmpunb (D) ol (Hib

[Option ID = 2984]

113)  Choose the correct match from the options given below:

List I [List 1T

A Aandaan (I Azhippu |
:B_A}fan ;II_ Kaappu
C. Ax L. Padaippu |
D. Aran I\f Eesuran -

FpssarannafFEha Flurar Qurmsssms BaTay blals.

auilens I ' suflsme 1T
(A) gyesmrair @O ooy
(B) gfu.rah (II} c'.E.TL'IL!
[(C) aym (IID) uemL_Liy

(D) ST eiT (V) maysir



[Question ID = 747]
1. (A)-(D). B)-(ID). (C)-(HD). (D)-(IV)

[Option ID = 2985]
2. (A)(IV), (B)-(IID), (C)-(ID). (D)D)

[Option ID = 2986]
3. (A)-(D). (B)-(IID). (C)-(II), (D)~(TV)

[Option ID = 2987]
4. (AT, (B)-(IV). (C)-(D). (D)D)

[Option ID = 2988]

114) What is length of Ascending part of arch of Aorta (Kandarai vil)?

semrl_smm allsvallsit st LBIElSIT B aTLD sTsirssr?

[Question ID = 748]
1. linch / 1 syEigevib

[Option ID = 2989]
2. 2inches/ 2 2Bl FH 0D

[Option ID = 2990]
3. 3inches / 3 gyEigab

[Option ID = 2991]
4. 4 inches / 4 gymiHevid

[Option ID = 2992]

115) The longest part of large intestine is -

>

QUHEIFHL & 1B)S BaTnmear LSS T

[Question ID = 749]
1. Ascending colon / eTmy yfsib

[Option ID = 2993]
2. Transverse colon / SIISS LTS

[Option ID = 2994]
3. Descending colon / @)mmig yfsib

[Option ID = 2995]
4. Sigmoid colon [ suETiD

[Option ID = 2996]
116) How many tarsal bones are present in the foot?

FHTE0E0 2 &Tam (HOU 6TETL ST 675 HanaT !

[Question ID = 750]
1. 5§

[Option ID = 2997]
2. 6

[Option ID = 2998]
3. 7

[Option ID = 2999]
4. g

[Option ID = 3000]

117) Which of the following is not a ductless gland?

FhSATLauDmy st Bremtlsteor &ridl gsarss 57T



[Question ID = 751]
1. Parotid gland / GlxalluypmEsrerd

[Option ID = 3001]
2. Spleen [ Waflsns

[Option ID = 3002]
3. Adrenal gland / UH&3sTUT]

[Option ID = 3003]
4. Thyroid gland / afsemr Gsmarth

[Option ID = 3004]

118) Choose the correct match from the options given below:

List T List II
IA Cervical vertebrae 'I__4_
EB. Thoracic vertebrae Im s
;C. Sacral vertebrae L 12
:D_ Coccygeal vertebrae iI\f 7

FpEssamsunnleflFEs FHlwrsr QUTESSH5ms B5iay blFiis.

| auflens I | auflens 11
%{A) F(pHE aubFHsT |(I) 4

|(B) (P& albF S 6T !(1'[} 5

(C) 1Figews aubdlmsr am 12

:{D) Y&F sulbFlser i(l’V} 7

[Question ID = 752]
1. (A)-(D). (B)(ID). (O)-(ID). (D)-(IV)

[Option ID = 3005]
2. (A)-(IV). (B)~(IID). (O)~(ID), (D)-(D)

[Option ID = 3006]
3. (A)(ID, (B)-(I), (C)-(IV), (D)-(IIT)

[Option ID = 3007]
4. (A)-(II0), (B)-(IV). (C)-(D), (D)-(IT)

[Option ID = 3008]

119) Which one of the following is a shoulder muscle?

FpsaTLanpish Tl GusF st ?

[Question ID = 753]
1. Triceps [/ uptbapd)

[Option ID = 3009]
2. Deltoid / £

[Option ID = 3010]
3. Corocobrachialis / ssmewriiys

[Option ID = 3011]
4. Pectoralis major / Qumaul 4

[Option ID = 3012]

120) Which one of the following 1s not a Gram positive bacteria?

Fipsaimsuhvlev s1hs spesrmy Arrid Liredligsy urdiefwur @)ssma?

[Question ID = 875]

- Streptococeus / 6 13 QG rHTrHHeN



[Option ID = 3497]

2. Pneumococcus / BluyGurETsss

[Option ID = 3498]
3. Neisseria / @puLflwr

[Option ID = 3499]
4. Corynebacteria / Qarileflurdsieflwb

[Option ID = 3500]





